Appendix Online 3.  Results of models 

Phase 1: Pre-transplant
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Phase 2: 1º year after transplant
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[bookmark: _GoBack]Phase 3: 2º-6º year after transplant
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             /cut3    -1.787606   .7353821                     -3.228928   -.3462833

             /cut2    -2.824194   .7640727                     -4.321749   -1.326639

             /cut1    -3.995575   .8100207                     -5.583186   -2.407964

                                                                                    

       ic_employed     1.429468   .5764765     0.89   0.376     .6484875    3.150992

            ic_man      .372886   .2097325    -1.75   0.079     .1238259    1.122899

1.highealthstat~b2     .0900842   .0499867    -4.34   0.000     .0303617    .2672824

1.medhealthstat~b2     .2686343   .1223825    -2.89   0.004     .1099961    .6560634

               man     .5701657    .275019    -1.16   0.244      .221526    1.467498

       withpartner     .5368261   .2871417    -1.16   0.245     .1881639    1.531549

           agetph2     1.014244   .0190548     0.75   0.452     .9775769    1.052287

      1.university     .3515316    .180282    -2.04   0.041     .1286554    .9605076

    1.mededucation     .9361484   .4632201    -0.13   0.894     .3549422    2.469061

           1.other     2.291825   1.578539     1.20   0.229     .5941553    8.840216

              1.mm     1.910605   1.044973     1.18   0.237     .6540646    5.581117

        1.leukemia     3.278261    1.66004     2.34   0.019     1.215104    8.844503

                                                                                    

    ic_hoursday_b2   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                                    

Log likelihood = -122.77217                       Pseudo R2       =     0.1230

                                                  Prob > chi2     =     0.0006

                                                  LR chi2(12)     =      34.42

Ordered logistic regression                       Number of obs   =        118

Iteration 4:   log likelihood = -122.77217  

Iteration 3:   log likelihood = -122.77217  

Iteration 2:   log likelihood = -122.77434  

Iteration 1:   log likelihood =  -123.3696  

Iteration 0:   log likelihood = -139.98395  

> b2 ic_man ic_employed, or

. ologit ic_hoursday_b2 i.leukemia i.mm i.other i.mededucation i.university agetph2 withpartner man i.medhealthstatus_b2 i.highealthstatus_


image2.emf
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                 /cut3     -1.66212      .7669                     -3.165216   -.1590233

                 /cut2    -2.493006   .7870892                     -4.035673   -.9503397

                 /cut1    -4.065443   .8438939                     -5.719445   -2.411441

                                                                                        

           ic_employed     1.231334   .4808806     0.53   0.594     .5727312    2.647286

                ic_man     .8416002   .4373095    -0.33   0.740     .3039537     2.33026

  1.highealthstatus_d2     .1465139   .0849826    -3.31   0.001     .0470062    .4566695

  1.medhealthstatus_d2     .5286612   .3025796    -1.11   0.265     .1721835    1.623167

                   man     .6140731   .2963224    -1.01   0.312     .2384903    1.581137

           withpartner     .5017378   .2655797    -1.30   0.193     .1777948    1.415906

               agetph2     1.007075   .0187363     0.38   0.705     .9710142    1.044475

          1.university     .1898361   .0969564    -3.25   0.001     .0697651     .516558

        1.mededucation     .4454549   .2154452    -1.67   0.095     .1726308    1.149448

1.non_related_alloge~c      5.85274   4.960997     2.08   0.037     1.111347    30.82257

  1.related_allogeneic     .9387087    .519441    -0.11   0.909      .317331    2.776829

                 other     1.804528   1.385302     0.77   0.442     .4007855    8.124845

                    mm     1.342688   .6876264     0.58   0.565     .4920986    3.663517

              leukemia     .9162749   .5389452    -0.15   0.882     .2893052    2.901987

                                                                                        

        ic_hoursday_d2   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                                        

Log likelihood = -135.07457                       Pseudo R2       =     0.1289

                                                  Prob > chi2     =     0.0003

                                                  LR chi2(14)     =      39.97

Ordered logistic regression                       Number of obs   =        118

Iteration 4:   log likelihood = -135.07457  

Iteration 3:   log likelihood = -135.07457  

Iteration 2:   log likelihood =  -135.0758  

Iteration 1:   log likelihood =  -135.5276  

Iteration 0:   log likelihood = -155.05759  

>  i.medhealthstatus_d2 i.highealthstatus_d2 ic_man ic_employed, or

. ologit ic_hoursday_d2 leukemia mm other i.related_allogeneic i.non_related_allogeneic i.mededucation i.university agetph2 withpartner man
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                 _cons     4.409141   4.140431     1.58   0.114      .699887    27.77666

           ic_employed     1.425118   .8607061     0.59   0.558     .4362788    4.655192

                ic_man     .7846013   .6164138    -0.31   0.757     .1682331    3.659204

     1.healthstatus_e3     .0526395   .0343643    -4.51   0.000     .0146429    .1892326

                   man     .2905368   .2188944    -1.64   0.101     .0663581    1.272061

         1.withpartner     .2021035   .1785534    -1.81   0.070     .0357733    1.141798

               agetph2     1.063101   .0333876     1.95   0.051     .9996364    1.130596

            university     .9422704   .6838617    -0.08   0.935     .2271998    3.907898

          mededucation     .7135079   .4642182    -0.52   0.604     .1993404    2.553891

non_related_allogeneic     1.276147   1.674523     0.19   0.853     .0974943    16.70407

    related_allogeneic     1.051042   .9995137     0.05   0.958     .1629855    6.777833

               1.other     3.091661   3.221633     1.08   0.279     .4010568    23.83295

                  1.mm      7.01315   5.649315     2.42   0.016      1.44625    34.00815

            1.leukemia     2.149144   2.418124     0.68   0.497     .2368809    19.49849

                                                                                        

        ic_hoursday_e2   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                                        

Log likelihood = -44.505884                       Pseudo R2       =     0.3560

                                                  Prob > chi2     =     0.0000

                                                  LR chi2(13)     =      49.21

Logistic regression                               Number of obs   =        113

Iteration 5:   log likelihood = -44.505884  

Iteration 4:   log likelihood = -44.505884  

Iteration 3:   log likelihood = -44.505897  

Iteration 2:   log likelihood = -44.541087  

Iteration 1:   log likelihood = -46.607327  

Iteration 0:   log likelihood = -69.112185  

> i.healthstatus_e3 ic_man ic_employed if daysfromsct>365 ,or

. logit ic_hoursday_e2 i.leukemia i.mm i.other related_allogeneic non_related_allogeneic mededucation university agetph2 i.withpartner man 


